sTEELBODY

POWER TOWER
STB-98501

~o0

\
Ay, 0

\ @ @

® © o

IMPORTANT: Please read the Important Safety Notice and
Assembly Information in the Owner’s manual before assembling
this product.

Assembly Manual
180409




©IMPEX INC. 1 WWW.marcypro.com



A AR R A RN AL
A

@F i g Y

8#x1

c 1 2 3 4 5 6 7 8 9 10 11 12 13 14 1

'UI'I"I'I'U"I[I'I'\'I'II"'I'I'I'\'I'I'I"I'I'I'\'I'I'I"'I'II"UI'I"'UI'I'["II'I
0 1}) 2;’! 3}! /1./} 5}} 6”

©IMPEX INC. 2 WWW.marcypro.com



©IMPEX INC. 3 WWW.marcypro.com



M10x23"
M10

qw

4
4
4

@@@

& @ ®

WWW.marcypro.com

©IMPEX INC.



=] L M10x33"

% © H x 2 o'
8 x 1 M10

©IMPEX INC. 5 WWW.marcypro.com



M10x1
M10x3"
M10
D3

4
2
2
8

I M @ ©

® © ®®

WWW.marcypro.com

©IMPEX INC.



M10x1
M10x33"

=l o .
— — o
Y s B
N N < < o
x x x x X

| E— O_”_

S J

REE8) |

WWW.marcypro.com

©IMPEX INC.



WWW.marcypro.com

©IMPEX INC.



©IMPEX INC. 9 WWW.marcypro.com



M10x1"

2

=

|

©

WWW.marcypro.com

10

©IMPEX INC.



6
6

WWW.marcypro.com

11

©IMPEX INC.



WWW.marcypro.com

12

©IMPEX INC.



IMPEX® INC.

2801 S. Towne Ave, Pomona, CA 91766
Tel: (800) 999-8899 Fax: (626) 961-9966
WWW.marcypro.com
support@impex-fitness.com

O©IMPEX INC. 13 WWW.marcypro.com



http://www.marcypro.com/

	IMPORTANT: Please read the Important Safety Notice and Assembly Information in the Owner’s manual before assembling this product.
	IMPORTANT: Please read the Important Safety Notice and Assembly Information in the Owner’s manual before assembling this product.

